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3. [15 pts] 

(i) [5 pts] (1 pt for attempt; 2 pts for each eigensolution) 

Eigenvalues & Eigenvectors: {
𝜆1 = −2,   𝑣⃗𝜆=−2 = (

1

0
)

𝜆1 = 1,    𝑣⃗𝜆=1 = (
1

1
)

    ((
3

0
) , (

3

3
)  are acceptable) 

 

Eigensolutions: {
𝑦⃗1(𝑡) = 𝑒−2𝑡 + 𝑒𝑡

𝑦⃗2(𝑡) = 𝑒𝑡  or {
𝑦⃗1(𝑡) = 𝑒−2𝑡 (

1

0
)

𝑦⃗2(𝑡) = 𝑒𝑡 (
1

1
)

 

 

 

(ii) [3 pts] (1 pt for attempt) 

(graph) 

 

 

(iii) [7 pts] (1 pt for attempt) 

𝑦⃗(𝑡) = −𝑒−2𝑡 (
1

0
) + 2𝑒𝑡 (

1

1
)  when 𝑦⃗(0) = (

1

2
)  [𝟑 𝐩𝐭𝐬] 

 

(graph) [3 pts] 



In[1]:= mat := {{-2, 3}, {0, 1}}

고유치

Eigenvalues[mat]

고유 벡터

Eigenvectors[mat]

Out[2]= {-2, 1}

Out[3]= {{1, 0}, {1, 1}}

In[4]:= y = a *

지수 함수

Exp[-2 * t] * {1, 0} + b *

지수 함수

Exp[t] * {1, 1}

yy := y /. t → 0

풀이 함수

Solve[{1, 2} ⩵ yy]

Out[4]= a ⅇ-2 t + b ⅇt, b ⅇt

Out[6]= {{a → -1, b → 2}}

In[7]:=

스트림 플롯

StreamPlot[{-2 * y1 + 3 * y2, 0 * y1 + 1 * y2}, {y1, -1, 1}, {y2, -1, 1}]

Out[7]=
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In[8]:=

파라 메트릭 플롯

ParametricPlot[{-
지수 함수

Exp[-2 t] + 2
지수 함수

Exp[t], 2 *

지수 함수

Exp[t]}, {t, -1, 1}]

Out[8]=
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